





e stream depletion for a well pumped at 400,
each year is 100 gpm




Unless, of course, you dry

ion is independent of well interference
both cumulative and additive
1 well pumping 500 gpm
has the same effect as
50 wells pumping 10 gpm

No difference betweer

yendent of distance frol




)n as a function of distance

only thing better than data is a model
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Depletion rate versus distance from stream

1000 feet from stream

Single well
0.42 gpm (600 gpday)

2640 feet from stream
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ase: multiple wells with two pu

lons per day every day all year
nal 10 gpm for 8 hours per
ach year (600 + 4800 g
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the point of withdrawal away from
the rate of stream depletion AND we
of maximum depletion in the annuaII

|
'Ie month: from September to Octobs




case: multiple wells with two pu
rain field return flow:

lons per day every day, all yea
al 10 gpm for 8 hours pe
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That's why fewer is better



— IF a few wells are used

he wells, not the subdivision - not one mosquito
N




